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. Answer the following;:-

a)  Which logical channel is mainly responsible for sending voice?

b) What is adjacent channel Interference?

¢) What is Soft handoff?

d) What is flat fading? :

¢)  Which modulation schemes are used in EDGE technology?

1 Why are cqualizers used in communication?

£) What is dwell time?

h)  Why more guard period is provided in RACH channel?

1)  What is cell dragging?

1) Why I'M signal is not termed as spread spectrum signal? (10x1)
UNIT -1
11 a) Discuss the criteria for planning a cell size and explain the concept of frequency
‘ reuse.
i ? 2x5
b) What is GPRS technology? How is it different from HSCSD & GSM? (2x5)

. a) What is Wireless Local Loop? List its applications.

- . 3 d
1 i hniques used in GSM an
i the various handoff tec
' doff? Describe briefly
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¢) If GSM uses a frame structure v | Gata is transmitted at 270 833 I o Wy
. . - — . a S : S aQl -/ SO0 .‘.’..',_::_:‘-u_ . -
. -ontains 156.25 bits, an . e 2 S Chop,.
t.”m .S.lm LO[.m : “a bit, (ii) time duration of a slot. (i1 3
find (i) the time duration of a bit, (it o successive
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diversity is used, where each branch receives an e .

VI.  a) Assume four branch i :
) 20 dB, determine the probabilsy, -

Rayleigh fading signal. If the average SNR is 2 errmne the | Uny gy o,
SNR will drop below 10 dB. Compare this with the case of a single recefver . e
diversity.
b) With neat block diagram explain how RAKE receiver provides diversity i oo
the performance of CDMA receiver? R
VIL. a) Explain GSM Architecture in detail and list its air interface specifications o G,
900 MHz. ‘
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b) In frame structure of GSM of normal time slot, why would the 26 equalizer maimie.
bits be placed in the middle of the frame rather than at the beginning? What is 1
reason for having an 8.25 bit guard period after the data bursts? X3
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